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~ How printf( ) & scanf( ) work ?
1 ~int (¥#) uses
2 ~ float ~ double (;%2:#k) uses
3 ~char (% =) uses
4 ~ character strings (F 8 ) use
5 ~scanf("%d",  b);
6 ~ scanf( )& #k? > %”J&ﬁi&l% 2 BREEE > MO HRER > T2 ey

O~ BEc s, b he Rt ak ¢ Dscant( )
7~scanf( ) s #k¥ > %’ﬁéﬁ%l > 2 BERE > MESRER > T2 e H
T E#c¥#ca, b st tn ¢ dscant( );
Program III : How old are you ?

/*
B2 H i xxZZyy ¥ 000
FRS [ 0 2012703/
A £ prog03-xxyy .- c
%E?“ﬁfﬁt :How old are you?
*/
#include <stdio.h>
#include <stdlib.h>

int main()
{
Int yourage;
printf(*'*How old are you?");

scanf(" ", );

printf(*'Next Year, you will be  vyears old.\n", );
system(*'PAUSE™) ;

return O;
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Program VI : 3+* 5 BM I

- i[ﬁa{@g\’f’r‘:;ﬁvf}ﬁq(height) ~ H- i[ﬁa{ﬁ@E'\’fT‘:f'W‘EE}ﬁl (weight) -
w P BMECRE g~ R BMI 47 7)

BMI = weight / (height * height) (ﬁ§§ CEFETBME Eyﬁ,ljﬁ%? D)
Uk 1 & =iy Cem) = xoox (17]: 168)
ﬁ%?ﬁii“ EE kg ¢ xx (f]:55)
[ﬁm] r’ﬁ:g'mf’yf,-l,rjii_ 168 cm
fﬁ\»ls’lfjﬁl;"[ﬂ 55 kg
oy BMI 8% 19.49 (=] BrRfo1- &)
/*
&2 H:xxZZyy ¥ 000
FAYFI1E9 1 2012/03/
R £, 0 BMI-XxXyy.C
FIFTUES L SHETBM
*/
#include <stdio.h>
#include <stdlib.h>
int main()
{ //;—Eﬁ’f', - MFHE(Float) BIfEF@Er height » &2y

//:E‘I'LF,— f[#?%’%#@?(float)f;]ﬁgﬁfﬁéﬂ?weight ) ﬁ‘f’?ﬁg

/73iF~ TR (FIoat) BIREAI@Er BMI » it B

//E;@FFJ;'J,F;J(EIJ printf E}‘]ﬁ@
/7 Sy 7 helght FURRAR 41 (M) scant FRh)

/IHWEE (7] printf FED

/7" R & welght USRI I 1(%] scanf [RRE)
//3HETBMI

//HJII:[II "fﬁf}flfifyﬁ'l]i\l: ...... il

I SRR 2T

J/HIHY R BME Eeee oot
system("'PAUSE™) ; /IR N RE LR -
return O; //iﬁ?h‘i'—fdfj';ﬁﬁqﬁﬁ > B! oﬁr, main FrE e
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